
845-987V00

IN231000534V01_GL





1

A*4

B*2

B*2

C*4
C*4

C*4
D*2

D*2
E*2

G*2 G*2

H*2 H*2

I*2

I*2

J*2
K*2 K*2

L*3 L*3 L*3

J*2

E*2
F*1

C*4

A*4

A*4

A*4

M*1



2

x124x221
M4*30

x82
M4*40

x63
M4*15

x2B x4C x2Dx4A

x1F x2G x2Hx2E

x2J x2K x3Lx2I

x1M

x15

+1(spare) +1(spare) +1(spare)



02

01

B

A

C
C

A

1

3

x21
M4*30

Repeat this step.

Repeat this step.



04

03

D D

E
EF

M

x81
M4*30

x124

1

1

4 4

1

1

4

Repeat this step on the other side.

Repeat this step
on the other side.



06

05

O

H
H

G G

I

I

JJ

x41
M4*30

x82
M4*40

1

2

1

1

1

5



08

07

K

K

x41
M4*30

1
1

1

1

6

L L L

3

3

3

3

3

3

x63
M4*15



09
x41

M4*30

1

7




